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Exploratory Exercises

Simplify.
1. (3 — VI + V1)

State a conjugate of each expression. Then multiply the expression by this conjugate.

2. VB ~ 8)(VE + 5)

7t
3. (4 + 2V - 9V2)

’
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4. 3+ VY 5. V3 + 4 6. 7-V5H
7.6+ V8 8.9-V3 9. Vi + V5 )
10. V3 - V7 11. 2v5 — V6 12. VB + 35
State the fraction by which each expression should be multiplied to rationalize the
denominator. '
3 1 s 3V2 V3
13. T i4. T 15. e 16. v |
3 s 1 an L IVE K1
17. \/; 18. \/7 19. 3+ V7 20.14 -3 11
Written Exercises 11
Simplify.
Va2 ] q Vi VT
21. Y£ 22. X 23. & 24. V2 1‘!
i V5 o7, B 5 i
25. 26. 27. \J2 28. /2 il
7 i) 5 . 7 e
20. [ 30. /11 31, 22 o2 NN P | !
- . ! 7 |
1 3 1 6 b
I A 6. i
37, \[% 38. T 39. 2 40! [ -
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5nd 11a® : V3a®h AN i
AL Vi 425 A e - !
1 1 1 10 i)
45 7755 . 465 - AT AT 48 5
6 12 . 100 5 b
49 5 v 50- %% 8l Ve 52- T3k
7B _-avB _-eVE ~10V6
-3 + VB o4 -2 VB 55. -4 + VB 56'3+v’f§
67 3VE + 5V 58. TVE ~ 6V5 - 89 [ ovh 60. v v
Challenge Exercises
Simplify. Assume that the value of each variable is positive. . !
5+ 3V3 SVE-VT Ve VE Vit Vy i
61. "o 62. B -5vi 63. 64 T

Va + Vb



